HANGER

Q

QUTSIDE / AUSSEN ~ INSIDE / INNEN
Hanger for Shimano Direct Mount only

o

NS

N,

OUTSIDE / AUSSEN

INSIDE / INNEN

Hanger for SRAM & Shimano standard

Q

OUTSIDE / AUSSEN ~ INSIDE / INNEN
Hanger for Shimano Direct Mount only

FITS

B2
N %
QUTSIDE / AUSSEN ~ INSIDE / INNEN

Hanger for SRAM & Shimano standard

FITS

FITS FITS
LECTOR UC 29 (9, 10, WC) 17,"18,19 | LECTOR UC X 29 (X8) LECTOR UC 29 (9,10, WC) 17.'18,19 | LECTOR UC X 29 (X8)
17,1819 17,18,19
ART-NR.  DESCRIPTION COLOR ART.-NR.  DESCRIPTION COLOR
FRHG000T ~ Hanger GHM11-001 black matt FRHG0002  Hanger GHM11-002 black matt
FRSC0026  Screw CGR16-026 M3 x 21 mm FRSC0026  Screw CGR16-026 M3x 21 mm
Al r\
(I
~
4 i Al r\
4
A/
QUTSIDE / AUSSEN ~ INSIDE / INNEN OUTSIDE / AUSSEN  INSIDE / INNEN
Hanger dummy for Pinion Hanger for Shimano Direct Mount only
FITS FITS

LECTOR LCKID 26 "17,'18,19.'20, #21 1| LECTORLC 29/27.5
"17,18,19 | ASKET LC 27.5 17,18 | ASKET AL 29/27.517,"18,
“19 | ROKET AL 27.5+ “17,"18,"19 | HYBRIDE LECTOR LC 29/27.5+

19,20 | HYBRIDE LANAO AL 29/27.5+ 17,18 | HYBRIDE KATO

ALincl. X 29/27.5+ 17,'18,"19,"20 | HYBRIDE TERU X 27.5+ “18

| HYBRIDE TERU PT 19,20 | HYBRIDE KATO X 27.5+ 19,20

KATOX 18,19

LECTOR LC KID 26 17."18,19,'20 | LECTOR LC 29/27.5 ‘17,18,
19,720, ‘21 [ ASKETLC 27.5 17,18 | ASKET AL 29/27.5
"17.18,19 | ROKET AL 27.5+ 17,"18,19 | HYBRIDE LECTOR
LC 29/27.5+ 19,20 | HYBRIDE LANAD AL 29/27.5+ 17,18 |
HYBRIDE KATO AL incl. X 29/27.5+ “17,"18,19,"20 | HYBRIDE
TERUX 27.5+ “18 | HYBRIDE TERU PT '19,"20 | HYBRIDE KATO X
275+ 19,20 | KATOX 18,19

ART.-NR.  DESCRIPTION COLOR
FRHG0022  Hanger GHM09-022 black matt
FRSCO060  Screw GHT12-060 M4 x 18 mm
R

N %

OUTSIDE / AUSSEN  INSIDE / INNEN

Hanger for SRAM & Shimano standard
FITS

ART-NR.  DESCRIPTION COLOR

FRHG0021  Hanger GHMO09-021 black matt

FRSC0060  Screw GHT12-060 M4 x 18 mm
QUTSIDE / AUSSEN ~ INSIDE / INNEN

Hanger for Shimano Direct Mount only

FITS

HAMRX 17,18 | ROKET X"17,"18

ART-NR.  DESCRIPTION COLOR

FRHG0059  Hanger GHT12-059 black matt

FRSC0060  Screw GHT12-060 Mé x 18 mm

¢

QUTSIDE / AUSSEN ~ INSIDE / INNEN
Hanger for SRAM & Shimano standard

FITS

I]REAMR ‘171 SLAMR AL “17,'18,'19, W ‘20| SLAMR LC
a1’ »

19,2 18,19,
HAMRAL 17,18 | HAMR LC “17,"18 | RIOT “17,18 | PATH RIOT

“17,18 | HYBRIDE SLAMR AL incl. X "18,19,"20 | HYBRIDE

LANAO FS “17,"18 | HYBRIDE KATO FS '17,"18,"19 | KATO FSincl.

X '18,"19,20 | SLAMR BASE ‘21

DREAMR ‘17 | SLAMR AL '17,18,'19,19,"20 | SLAMR LC
"17,18,19,20 | SLAMR X AL '17,18,"19,'20 | SLAMR X LC
“17,18,'19,20 | FRAMRAL “17,18,19,"20 | FRAMR LC 17|
HAMRAL 17,18 | HAMR LC 17,18 | RIOT “17,"18 | PATHRIOT
“17,18 | HYBRIDE SLAMR AL incl. X '18,"19,"20 | HYBRIDE
LANAO FS 17,18 | HYBRIDE KATO FS '17,18,"19 | KATO FS
inclX '18,19,"20 | SLAMR BASE 21

ART-NR.  DESCRIPTION COLOR

RIOT 14,15,"16 | RIOTLT “15 | PATHRIOT 16 | SLAMR “16 |
SLAMR X 16 | FRAMR “16 | DREAMR “16

FRHGOOS7  Hanger GHT12-057 black matt

ART.-NR.  DESCRIPTION COLOR
FRHGO058  Hanger GHT12-058 black matt
FRSC0060  Screw GHT12-060 M4 x 18 mm

£ N

INSIDE / INNEN

OUTSIDE / AUSSEN

Hanger for Shimano Direct Moount only

FITS

FRSC0060  Screw GHT12-060 Mé x 18 mm

/¢

OUTSIDE / AUSSEN  INSIDE / INNEN
Hanger for SRAM & Shimano standard

FITS

ART-NR.  DESCRIPTION COLOR
E22038 Hanger GHT-12-001 black matt
SM1373 Screw GHO-AMR16SC-PM318
WITH THREAD / MIT GEWINDE
OUTSIDE / AUSSEN ~ INSIDE / INNEN

FITS

RIOT 14,15,"16 | RIOTLT ‘15 | PATHRIOT 16 | SLAMR “16 |
SLAMRX ‘16 | FRAMR “16 | DREAMR “16

ART-NR.  DESCRIPTION COLOR

LECTOR “16 | ASKET 16

ART-NR.  DESCRIPTION

COLOR

LECTOR “16 | ASKET 16

ART-NR.  DESCRIPTION COLOR

E72037 Hanger GHT-12-031 black matt

EI3 Hanger GHM09-010

black matt

22132 Hanger GHM09-020 black matt

SM1373 Screw GHO-AMR16SC-PM318

*Aluminium = no carbon (LECTOR), no Actinum, no Scandium

SM1373 Screw GHO-AMR16SC-PM318

SM1373 Screw GHO-AMR16SC-PM318

TREKKING ‘12,13 (5100-7500), 14 (5100-7500) | CROSS
12,1314 | SPEEDLINE Alu*'12,13,14 (5700-7500), ‘15(3,4) |
HTX 29" incl. Lector 29" “12,'13,"14 | 4X Team “12,"13| 4X Comp
12,1314 | SE 13,14 (2000-8000) | MISS 13,14 (2000-8000) |
SE29 13,14 (inkL. EBS) | HTX* "13 | E-HYBRIDE Trekking (man/
lady) 13,14 | E-HYBRIDE Wave “13,"14 | E-HYBRIDE Cross
(man/lady) 13,14 | E-HYBRIDE SE29 14 | LANAQ incl. PRO
'15,16 | KATO incl. PRO “15,"16 | TACANA incl. PRO ‘15,16 |
PANAMAO 15 (5, 6, 7) | PANAMAO X “15(5, 6,7, 8) | THE HOOD
“15 | ANDASOL incl. LADY 15 (4, 6), 16 | ANDASOL X incl.

LADY “15(5,7,9), 16 (Cross) | HTX “15,"16 | NILA 15,16 |
KATOFS '16,17.18,'19,20 | LANAO FS “16,'17,"18 | SQUARE
TREKKING & SPEEDLINE 16,17,"18,'19, 20 | SQUARE CROSS,
CROSS X '16,17,"18,"19,"20 | SQUARE URBAN, URBAN X “16 |
KAT029/27.5 “17.18,'19,20 | KATO X 29 17 | LANAO 29/27.5
'17,'18,19,20 | ANDASOL CROSS, TREKKING, WAVE ‘17 |
HYBRIDE KAT0 2917 (2) | HYBRIDE LANAO 29717 (2) | TERU incl.
MISS '15,"16,17 | HYBRIDE TERU incl. X 29,18,19,20 | HY-
BRIDE SQUARE CROSS, TREKKING “17,"18,19,20 | SQUARE ‘21

PARTIALLY FITS

MISS 12| SE 12 | PANAMAO X “15 (2,3, 4)

ART-NR.  DESCRIPTION COLOR

E71954 Hanger GRH-21bl night black

FRSC0054  Screw 2x Mé x 8 mm T20 black



HANGER

“ .o ] ‘a’X'a’
o v
o
OUTSIDE / AUSSEN INSIDE / INNEN OUTSIDE / AUSSEN INSIDE / INNEN QOUTSIDE / AUSSEN INSIDE / INNEN OUTSIDE / AUSSEN INSIDE / INNEN
FITS FITS FITS FITS
SE “14 (1100-1800) | MISS 14 (1100-1800) | LAWU “15,16 Road Rage 16,19 | Fire Road Rege’ 18, 19,20 | Endless Road NIVOLETX 1718 NIVOLET ‘159, E8S) | NIVOLETTOUR LC 16  NIVOLET RACELC
SONA 15,16 | POWERKID 20" 15,16 | POWERKID24° ‘15,161 Rage'18,"19, 20 | Violent Road Rege’18.19 | Road Rage ‘20, 21 ‘161 NIVOLET LC/UC 1718
KATO 26 '17,18,19,20 | LANAO 26 "17,18,"19,20 | KATOKID
L0 AOKDZ T8 90 GTORDZ ART-AR. _ DESCRPTION COLOR ARTNR. __ DESCRIPTION COLOR ART-NR.  DESCRIPTION COLOR
T T FRHGOO03  Hanger RD 156 black matt FRHG00Z3 _ Hanger CGR16-023 black matt E11859  Hanger GRH-26bL night black
ART-NR.  DESCRIPTION COLOR !
FRSCO003  Screw Hex 2.6 Inbus FRSCO026 - Screw CGRI6-026 M3 21 mm FRSCO0S6  Screw 2¢ Méx8 mm T20 lack
£72036  Hanger GRH-24bl night black M3xgmm
FRSCO052  Screw 69-035-090 Hex
5 mm Inbus
FRNTOOS2  Screw nut 69-035-090
WITH THREAD / MIT GEWINDE WITH THREAD / MIT GEWINDE WITH THREAD / MIT GEWINDE
\ L ‘ '
QOUTSIDE / AUSSEN INSIDE / INNEN OUTSIDE / AUSSEN INSIDE / INNEN OUTSIDE / AUSSEN INSIDE / INNEN OUTSIDE / AUSSEN INSIDE / INNEN
FITS FITS FITS FITS

NIVOLET “15 (2) | NIVOLET Tour ‘16 (2.3) | NIVOLET AL 17,'18

Race Lector “13 (Pro, 7000), ‘14 | Nivolet LC ‘15 (4,5,6,7,.8) |
Nivolet Tour Disc LC 16

EBS RACE Lector '10,11,12 | RACE Lector '11,12,"13 (Red) |
RACE Lector Pro/SL 09,10

EBS RACE Alu* “07,'08,"09,"10,"11,"12,13 | RACE Alu* ‘04,05,
‘06,'07,08,'09,10,11,12,"13,"14 | RACE Scandium “05,06 |
RACELINE “09 | SPEEDLINE ‘07,08,'09,10,11,12,"14

ART-R. _ DESCRIPTION COLOR ART-NR.  DESCRIPTION COLOR ART-NR.  DESCRIPTION COLOR (1800)5 (2
EZ1858  Hanger GRH-2601 night black EI00 Hanger GRH-23si silver EI666  Hanger GRH-15si silver ART-NR.  DESCRIPTION COLOR
FRSCO0S4  Screw 2x Mé x§ mm T20 black EI01 Hanger GRH-2301 night black FRSCO0S4  Screw 2x M4 x8 mm T20 black I3 Hanger GRH-03si siler
FRSC0054  Screw 2x M4 x 8 mm T20 black E21851 Hanger GRH-03bL night black
FRSC0054  Screw 2x M4 x 8 mm T20 black
WITH THREAD  MIT GEWINDE WITHOUT THREAD / OHNE GEWINDE WITH THREAD / MIT GEWINDE WITHOUT THREAD / OHNE GEWINDE
QUTSIDE / AUSSEN INSIDE / INNEN OUTSIDE / AUSSEN INSIDE / INNEN OUTSIDE / AUSSEN INSIDE / INNEN OUTSIDE / AUSSEN INSIDE / INNEN
FITS FITS FITS FITS
SPEEDLINE Lector 12,13, 14 4XTeam “11 | CROSS ncl. Lady 11,15 [ EBS AL ‘1011121 AMRA® ‘11,712, 13 | AMR Lector ‘11,712,713 | MISS AMR AMR ALL* “10 | AMR Lector ‘10 MISS AMR ‘10
EBS HTX Lector 07, 08, 09, 10 | HTX Actinum 10,"11,12 | HTX 1,112,131 | RT Actinum “11,"12.13  RT Lector ‘11,1213
Lector ‘07,'08,'09, 10 | MISS Hardtail 10,11, 12| RACE HTX Lector “11,'12,"13 | EBS HTX Lector “11,12."13| AMR 29 PARTIALLYFITS
ART-NR. _ DESCRIPTION COLOR Actinum "07, 08 | SEAL* "10,'11,'12 SE Lector ‘10 18,14 | ASK 6508 14 | MISS ASX 6508 “14 | KATO FS incl. E:
i silver / black PANAMAO X 15(2,3.4) - running change to EZ1954 from within 15| LANAOFS “15 AMR AL 11 | AMR Lector ‘11| MISS AMR ‘11 | RZ Actinum
EI956  Hanger GRH-22si/bl matt “ITIRT Lector ‘11| HTX Lector ‘11

FRSC0054  Screw 2x Mé x 8 mm T20 black

ART-NR.  DESCRIPTION COLOR

PARTIALLYFITS

Ez1612 Hanger GRH-07bl night black

FRSC0054  Screw 2x M4 x 8 mm T20 black

AMRALU* 10| AMR Lector 10| MISS AMR 10

ART-NR.  DESCRIPTION COLOR

ART-NR.  DESCRIPTION COLOR

Ez1621 Hanger GRH-18bL night black

£21822 Hanger GRH-19bL night black

FRSCODB4  Screw 2x M4 x 8 mm T20 black

FRSC0054  Screw 2x Mé x 8 mm T20 black

*Aluminium = no carbon (LECTOR), no Actinum, no Scandium



HANGER

l-
OUTSIDE / AUSSEN

INSIDE / INNEN

FITS

OUTSIDE/ AUSSEN ~ INSIDE / INNEN

FITS

%9

QUTSIDE / AUSSEN  INSIDE / INNEN

FITS

3
INSIDE / INNEN

OUTSIDE / AUSSEN

FITS

AMR Plus Alu* 10,711,12,13,"14 | AMR Plus
Lector '10,'11,"12,"13,'14 | AMR Square ‘09 | DOWNHILL
“11,12,'13,"14,15 | NORTHSHORE “11,12,"13,"14,"15 | CAGUA

ASX “06,'07.'08 | RACE Alu* "99,"00,'01 | HYB ANDASOL
WAVE,"18

AMR Alu* 06,0708, 09 | AMR Lector 08,09 | AMR Plus /
LT (Long Travel) Alu* “08,"09 | AMR Plus Lector '09 | ASX ‘07
(only for frames wtih frame-no. A...) | ASX '09,10,11,12,13

4X 09,10 | 4X Pro/ Comp 11 | CROSS incl. Lady
“04,05,"06,°07,°08,"09,10 | DUAL Comp / Pro “06,"07,"08 |
EBS1/2 Alu* “06,'07,"08,°09 | HTX Scandium “06 | HTX Team

(26°) 12,131 CAGUA (27.5) '13."14,"15 | AR (27,5) Alu* ART-NR.  DESCRIPTION COLOR [ ASK Plus 10,11 ERT ‘06,'07, 08,"09 | FR Northshore Edition ‘05, 06,07 | MISS Hardtail ‘08, 09 | MISS Hardtail
14,15 | AMRincL. LT 15, inkL. X ‘16 | TERU FSincl. LT 15,16 03,'06,05,'06,'07,'08,'09 | HTX Actinum ‘07,0809 [ HTXAW* 3300 “07 | MISS Hardtail 4500/ 5100 06, 07 | POWERKID
THEHOOD PRO “15,16 | THE HOOD FS 16,16 | AMR 16 £71338  Hanger GRH-Odsi silver 01,°02,'03, 04,05, 06,07 | MISS AMR “08, 09 | MISS Hardtail 26" [MISSY 24" “06,'07,"08,'09,10,11,12,13,"14 | SE
RS0 Sorew 69035000 5700 06,07 | MISS RT ‘04,05, 06,07, 08,'09, 10,"11,12,"13, 06,'06,'07,'08,09 | TRincl. Lady "04,05,06,'07
ART-NR.  DESCRIPTION COLOR P e “14 | RT Actinum 07,"08,"09,"10 | RT Alu* "03,"04,"05,"06,"07 |
mm Inous RT Lector ‘08,'09,"10 | TR incl. Lady ‘08,'09,10,"11,"13 (1300~ ART-NR.  DESCRIPTION COLOR
E21567 Hanger GRH-14b night black FRNTO052  Screw Hex 69-035-090 1800),"14 (1100-1800, EBS) | PANAMAQ “15(2, 3)
E21852 Hanger GRH-02bl night black
FRSC0063  Screw DTAMMS-30 M8 x30 mm
Torx Black ART-NR. _ DESCRIPTION COLOR FRSCOD52  Screw 69-035-090 Hex
EZ1352  Hanger GRH-06bL night black § mm Inbus
TRSCOIS  Sorew 69-035-001 Hex FRNTO052  Screw nut 69-035-090
5mm Inbus
FRNTO052  Screw nut 69-035-090
[ J
(] 1
[ J
OUTSIDE / AUSSEN ~ INSIDE / INNEN QUTSIDE / AUSSEN  INSIDE / INNEN OUTSIDE / AUSSEN  INSIDE / INNEN OUTSIDE / AUSSEN  INSIDE / INNEN
FTS TS FITS FITS
E-Hybride Trail ‘11,12,"13."14 £-RIOT | RIOT | LECTORFS | Hybride ASX 21 | LECTOR Pro 21| HYBRIDE ASX 20 HYBRIDE ASX 20
LECTOR Replica ‘21 | LECTOR World Cup ‘21
ART-NR.  DESCRIPTION COLOR
ART-NR.  DESCRIPTION COLOR ART-NR.  DESCRIPTION COLOR ART-NR.  DESCRIPTION COLOR
EZ1855 Hanger GRH-20si silver
Frbcong1 S UOH DERAILLEDR g e FRoTo1gy  Manger ALblack night black FROTOI38  Hanger Nut AL black night black
FRSCO052  Screw 69-035-090 5 mm Inbus HANGER SE
FRNTO052  Screw nut 69-036-090
QUTSIDE / AUSSEN  INSIDE / INNEN OUTSIDE / AUSSEN  INSIDE / INNEN
ATS FITS
ROAD RAGE AL NIRVANA ‘20 | LECTOR “20, ‘21 (only lowbudget) | HYB SQUARE
TRAVEL 20, ‘21
ART-NR.  DESCRIPTION COLOR ART-NR.  DESCRIPTION COLOR
FRHG0062  Hanger Set Road Rage Base AL night black FRHG0025 gsgg_ez’esl-ﬁum'“m*’Ck night black
!

*Aluminium = no carbon (LECTOR), no Actinum, no Scandium




